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gl b oy = 1 bl
C=ab+2a—-T+a-58b . B=7-5x-3 +x—8+7% . A=2x+5+8x+11
: Jaey § 50 : 2 bl
D=(x+4{x-1) . C=20-2)+x2x+3) . B=-6{1-x-(10-x) . A=2(x-8)+7
H=(8x-7y)8x+7y) . G=Q2y-5¢ . F={x+3) . E=(x-2)2x-5)-7(-10+4)
:"th‘c:m
D=x+5F +11X¥ . C=5x-% . B=12x+18 ‘ A=ab +5b
G=x+4x+4 . F=5(x+1)+(x+1}  E={x-3)x+7)-(5-x(x-3)

K=(x+1f -2 . J=1002-121 . I=(2x-3F-(x+I} . H:f_%
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A=Ql+x+ P+ ) 1-x sy80 =
B=x+1°
C=x"-1

= 12 +x* -4
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C=ab+2a—-7+a—5ab B=7-5x-3 +x-8+7% A=2x+5+8x+11
C=2a+a+ab—-5ab—-7 B=7-8-5x+x-3 +7xX A=2x+8x+5+11
C= 33 — 43b - 7 B=-]1—-4x+a4x A=10x+16
TS spdmd g g 18] ¥
tdmascsd § 2028 ¢ 2 Geipal
C=2(1- 2 )+ x{2x+3) B=—6{1- x}—(10—x) A=2x—8)+7
C=2-2x 422 +3x B=—6+6x-10+x A=2x-16+7
C=2+3x B=7x-16 A=2x-9
F=(x+3f E={x-2)2x-5)-7(-10+4) D=(3x+4)x-1)
F=x +3xxx3+3 B=2x"-5x-4x+10+70-28 D=3x —3x+4x—4
F=xX +6x+9 BE=2x-9x+52 D=3x+x-4
H=(8x-7y)(8x+7y) G=(2y-5)
H=82 -(7y) G=02yf -2x2yx5+5
H=64x-49y G=4y’ - 20y +25
(a+b)a-b)=a"-b" . (a-b) =2’ -2ab+b* . (a+b) =a" +2ab+b* ;i Clijlaxtty ysmds o7
| haact ¢ 3 el
D=x+5x+117 C=5x-x B=12x+18 A= ab+5b
D=Al+5x+112) C=x{5-1x) B=6(2x+3) A=b{a+5)
N F=5(x+1)+(x+1) E=(x-3)x+7)-(5- xx-3)
2 2 F=(x+1f5+(x+1)] E=(x—3f(x+7)-(5- x)]
G=Xx"+2xxx2+2 F=(x+1)(5+x+1) E=(x—3)(x+7—5+x)
G=(x+2f F=(x+1)(x+6) E=(x—3)(2x+2)
F=1002 —121
Faifapis 1=(2x-3F —(x+1Y qu_%
7 = (10241110 2-11) I =[(2x-3)+(x+1)][2x- 3)-(x+1)] i
I=(2x-3+x+1)(2x-3-x-1) H=2 -[-)
K= (x+1y - I =(32-2)(x—4) i
K=(x+1} - (=} H=(x+%)[x_%)

K=(x+1+2)fz+1-2)
HaK 3J oI 324 a* -5 =(a+b){a—b) nijlactl Jleatuly haad GlgoM o st b 57
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A= (l+ x+x +x’x1—x)=1—x+ x-¥+x-x+x-x'=1-1

B=(x+1] = (x+1)(x+1F = (x+1)2 +2x+1)= £ 422 + x+ ¥ + 2x+1= 2 +32 +3x+1
C=x" _1=(2"F _1={x* +1){x™ 1)
D=2 +2% + 2 —4 = 2(x+2)+ (x+ 2)(x—2) = (x+ 2} + (x-2)]= (x+ 2)(=* + x-2)






